4

\ 4

BRAND EMBOSS TYPE DOOR HEIGHT | gpiriing REVISIONS
SHORT Lot —— REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
CLOPAY | 9200, HDP20 | 9203, HDPL20 | 9201, HDPF20 75’5, TTDEI 78?9, g RALd i - : .
= s THE_OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE 00 - - - SH INITIAL RELEASE
IDEAL 8200 8203 8201 90" TO 10’6 6 WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
109" 10 125" / IMPACTRESISTANT REQUIREMENT FOR WIDBORNE DEDRIS »
HOLMES 7200 7203 7201 12’6 TO 14'0° 8 REGIONS (REF. CHAPTER16 FBC/IBC) ] —— 2" THICK
il — S P S
16°0° 10 OPTIONAL WINDOW LITE. DSB GLASS, DOUBLE—PANE SNAP LATCH ENGAGES
MAX SECTION HEIGHT: 21” INSULATED OR 1/8” ACRYLIC AVAILABLE. OPTIONAL ONTO VERTICAL TRACK.
B ARCYLIC GLAZING IS PLASKOUITE OPTIX OR LUCITE CP ONE SNAP LATCH ON URETHANE CORE
APPROVED CC2 PLASTIC IN ACCORDANCE WITH IBC/FBC EACH SIDE OF DOOR DENSITY 2.4 P.CF.
________ - 2606. SEE SECTION B—B. SHORT PANEL LITE SHOWN; .
| vd MAX. LITE SIZE IS 42"x16". END SLIDE BOLT
4 £y s 4 £ 4 £ 4 4 £ 4 s 4 e :_NoTcoK V?\Fla%\cci\is
ry = = P\ - L= = Py = i Iy = P ey = i TRACK- ONE
] A A = A SEE INTERMEDIATE LOCK ON OUTSIDE KEYED END
O N N 1 1 s 5 DooR. HANDLE STLE 12 GA. GALY. STEEL ToP
1 1 1 1 1 1 1 1 1 1 1 1 1 /r_—‘l 1 : M
i SEE END INSIDE_SLIDE_BOLT INSIDE HANDLE ] BRACKET ATTACHED W/(4)
5 ——— —— PINGE  DETAIL 1OCK_OPTION OUTSIDE KEYED LOCK — ééaﬁv/ss SHEET METAL
2 ! o fin i fi I i i : SNAP_LATCH LOCK OPTION :
= ; b Ui Y P Uiy Y i ’ TONGUE AND GROOVE JOINTS.
o
o] ———— e e e ————— e e e = 14 GA. GALV. STEEL ROLLER (END) HINGE.
o : i i i th i i i : LOCK FOSTION EACH FASTENED TO END STILES W/(4)
: | | | | | | 1 ﬂ 1 1 1 1 1 1 1 1 (BOTH S|DES) END »
% ! i i i ) iy i i . END_ f14x5/8" SHEET METAL SCREWS AND
= THIS DOOR MEETS OR EXCEEDS THE DESIGN _/ 4) 1/4x3/4” SELF TAPPING SCREWS.
LOADS FOR THE WIND SPEEDS LISTED BELOW 27 G?;AMNSSLE%TEXI\' \
! nh HH n / nh HH nH i ! Q%C?BRCD'?‘fsg,%)THF%RFLPHR,.{D?O?'[&?V]NgODE BAKED—ON PRIMER AND A / SECTION A-A
| gy gy g gy gy g g . CONDITIONS: 1)’ ENCLOSED BUILDING, 2) DOoR | OgisIPE BAKED—ON POLYESTER PAINTED —
H)AS 2" OF WIDTH IN BUILDING’S E;ID ZONE, TOP COAT. \_
- 7 ! 3) IMPORTANCE FACTOR OF 1.0, 4) ANY " _
OPTIONAL OUTSIDE KEYED ~/ ROOF SLOPE, AND 5) 50% SAFETY”FACTOR. LR sEaR N B o A ST LR, SN
| . DO0R WO = 160" | o sree Grefcroo o 9l 0} ourape e oo TRACK O AHOH EQUALS MO, U uks, U-akks
INSIDE_ELEVATION or 1 i i LOCK_BAR LOCKING EACH SIDE /(2) 1/4°x3/
(SHORT PANEL SHOWN) MEAN ROOF HEIGHT| 30 3’| 17| 30 — OF DOOR. — TAPPING SCREWS PER HINGE LOCATION.
27 GA. STEEL INTERIOR GALV.
SKIN WITH A BAKED—ON PRIMER
HORlzgggngﬁg\gﬁEsRUF({Fr’g Rgu% HORIZONTAL TRACK SUPPORT BY e e e
» TRACK CONFIGURATION PAINTED TOP COAT.
(4) #14x5/8" SHEET METAL SCREWS O D UNDER N TRSSOKRSO(';‘\Z!:%U%?‘T_I&TL A TRACK SRS SUIT)W
& é — - * ) : 13 GA. GALV. ST(EI-gL#Bom}M BRACKET.
- 13 GA. GALV. STEEL FLAG BRACKET. ATTACHED WITH (4) #14x5/8”
AL (4) 1/4"3 /4" SELF TAPPING SCREWS \ / éicﬁAF A%AI'LEY\iE[S)TFI'gL v\""(')-gg EmgK%H EACH FASTENED TO WOOD JAMB WITH SHEET METAL SCREWS.
@ e - (3 5/16x1-5/8" LAG SCREWS, (3) 5/161-5/8" LAG SCREWS. A aLuMNUM EXTRUSION
14 GA. END HINGE 18 GA. INTERMEDIATE HINGE 2" GALV. STEEL TRACK, ' ’
£ = 20 TRACK THICKNESS: .060” MIN. FRONT FRAME. WITH U
i NOTE: DOUBLE TRACK 2 MAX NOTE: FOR DOORS OVER 12'=0" HIGH, TRACK SECTION B-—B COATING ON OUTSIDE SURFACE.
T LOW HEADROOM IS T CONFIGURATION SHALL NOT EXCEED MAXIMUM
_ x i AVAILABLE AS AN OPTION x SPACING PROVIDED. CONSULT FACTORY FOR
2.000 PS| MIN. CONCRETE COLUMNY: § i 3 TH MORE DETAIL IF RQD. nr C&\ il
3/8°x4” SLEEVE ANCHOR BOLTS ON 20" CENTERS (C—90 2" GALV. STEEL TRACK, e TYP. 2—-1/2"x12 GA. GALV. STEEL TRACK BRACKET. It U
B;OCK) OR 24" CENTERS (2,000 P? MIN. CONCR(EI'E) OR I L TRACK THICKNESS: .060" [ y Ta;rF:) ggg ¥§8§ gsﬁgﬁgg EE; S:BE EHE $8 12 ::g:g L L
1/4°x4” TAPCON SCREWS ON 16—3/4” CENTERS (2,000 = = . .
PSI MIN. CONCRETE). WASHERS INCLUDED WITH 5 W _—TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET. X | _—DISTANCE BETWEEN FLAG AND TOP TRACK BRACKET / (GNGLE PANE
SLEEVE ANCHORS, 1” 0.D. MIN. WASHERS REQUIRED o 11 (4) TRACK BRACKET PER SIDE. DISTAN'CE BETWEEN I} 4 4 NOT TO EXCEED 30" O.C. MOLDED INSIDE SHOWN, MAY BE
WITH TAPCONS. ANCHORS MAY BE COUNTERSUNK v TRACK BRACKETS NOT TO EXCEED 30™ O.C. T n» h LHR TOP BRACKET LITE RETAINER INSULATED DOUBLE "
(BUT NOT REQUIRED) TO PROVIDE A FLUSH g (FACTORY ATTACHED) © DOOR | : PANE). #8x3/4” PAN HEAD
MOUNTING SURFACE.” HORIZONTAL JAMBS DO NOT = DOOR T Z L E}%Jng HORIZONTAL SCREW (1 SCREW PER
TRANSFER LOAD. i HEIGHT | "L & 90"6 | EMBOSSED PILOT HOLE),
S 1 6—6" | 70" NOTE: TRACK CONFIGURATION & .
............... FJSTF;L“L‘SR“L(“%'QGS&% POOR ‘ ] ;'_g" gg" PN AP TS ?g" DESIGN ENGINEER: MARK WESTERFIELD, P.E
. 724 Z 18 GA. GALV. STEEL END STILE -t 8—0" [ 88" CORD RATING OF THIS DO, \ 118, DOUBLE TRACK LORIDA PE $48495, Ne PE #23832, TEXAS P.E 91513
P (END STILES HELD BY HINGE SCREWS) 1 Low HFADROOM OPTION INKCWITH A RAISED SEAL (EMBOSS).
2x6 YELLOW PINE JAMB 1367 MANUFACTURING PRODUCT CODE:

12 GA. GALV. STEEL TRACK
BRACKET FASTENED TO WOOD
JAMB WITH ONE 5/16"x1-5/8"
WOOD LAG SCREW PER BRACKET.

PREPARATION OF JAMBS BY OTHERS.

VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS):

2” GALV. STEEL TRACK

FASTENED TO TRACK BRACKETS.
EACH BRACKET ATTACHED WITH ONE
1/4"x5/8” BOLT & NUT OR

TWO 1/4” RIVETS.

JAMB CONFIGURATION
SECTION C-C

2"

10 BALL SHORT STEM STEEL ROLLER WITH
STEEL OR NYLON TIRE

18 GA. MIN. GALV. STEEL CENTER HINGE
FASTENED TO INSIDE SKIN W/(4)
EACH #14x5/8" SHEET METAL SCREWS.

14 GA. GALV. STEEL ROLLER HINGE FASTENED TO
END STILES W/(4) EACH #14x5/8" SHEET METAL
SCREWS AND (4) 1/4"x3/4” SELF TAPPING SCREWS.

1/2"x3” LAG SCREWS ON 17.5” CENTERS. 1" O.D.

MIN. WASHER REQUIRED. LAG SCREWS MAY BE COUNTERSUNK
(BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

NOTE: THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS
SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF
RECORD FOR THE BUILDING OR STRUCTURE AND IN ACCORDANCE

WITH CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING.

DESIGN LOADS:

TEST LOADS: +38.0 PSF & —38.0 PSF

+25.5 PSF & —25.5 PSF MPC:DSIU=1F171

Unless Stated Otherwise - ul h8A585 D8||f|e4gngljevt(}srg CLOPAY WINDLOAD RATING
ason,
TOLERANCES o | uum WsIOPAY Y53 3153504800 w 4
0 = £.031 Building Products Company Fax No. 513-770-4853
688 = i-gég DESCRIPTION: 9200 SERIES: 2" RESI PUR #25.5 PSF DOUBLE CAR
0000 = +.001 DRAWN BY: SH DATE: 05/25/09| SCALE: NTS DWG.

Degrees = +1/2° ICHECKED BY: SH DATE: 06/05/09|SHEET 1 OF 1 [SIZE
Unl Stated Otherwi
DPMT—:Sh?&oﬁseARE |§1m|”NSgHEs. DWG. NO.: 104169 VER: IBC

4

| 3

N

2

ELORIDA FRODUCT APPROVAL 5675




